Mean Spectrum Continuum Lightcurve
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RMS Spectrum BLR Lightcurve
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x(\t) = ( Data — Model A ) /o x Corrections

4589%90 w rm002

-7 " T 7 1T 1 T T
LN TR A b R R TS S R SR P o I ]
R B b R | ]
A A N 1
E i e i ! “:h:u“w}ih‘\“ i it ‘w' “ 3 ]
N SR LT NS i I ]
Y e R R P R R "t ]
el it e b S L G R : ]
& R T R P o T O e KR O R T

b O ARG ”*‘ﬂ“”.*h-n‘nw"lmw” ot e e AR, I N
R A R el MR M 1
o Al fi St ek + E
A o o el sl Ut e Rl 3 [ 1
i m“,:,‘,:“ i i “““;“ ‘ H i “‘“““f}-‘ﬁf“““ ) gw‘“;,"\: w\,"u“p“‘ u\ 'u;‘vu‘v;‘lH\‘:;-‘“;'v‘”c:\:‘ 2 [ ]
e e T A A R T

0.9
~
Q
o
o

1500 2000 3000 7500 8000 8500 9000
bad:230=0.056% A (B) z = 1.75535 : MJD — 2450000

4 = 0.008(21) x = 1.041(89) => 1.041(90) u = —0.05(17) x = 0.978(18) => 0.978(17)
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